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RTSE 2024-25 (level-1) 
  FOR PRESENT III Class students 

          
Name: __________________________ Father’s Name : ______________________   Date : 22nd  Dec. 2024 

Mobile No. ______________________ Reg. No. / Form No.______________     Invigilator. Sign & Name             

 

General Instructions:- 
 Choose the correct option and write it in the box provided against each question. 
 All questions are compulsory. Each question carries 1 mark.  
 There will be no negative Marking .  
 Overwritten answer will be considered as wrong attempt..  

 

 

 
 

 
 

    
   

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
  

MAY YOUR LUCK SMILE AT YOU! 

Investment in Educator never goes waste. 
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…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 
 
 
 
 
 
 
 

1 Choose the word with correct spelling  
(a) Priviledge (b) Privelage (c) Privilege (d) Privilige 

         
2 Choose the correct alphabetical order:- 

(i)Dictum                      (ii) Dictate                                (iii)  Diastole                       (iv) Dictionary 
 

(a) iii ,ii , i ,iv (b) i ,ii ,iii ,iv (c)  ii ,iii,iv,i (d) iii ,ii ,iv ,i 
         

3 Which word rhymes with shoe ?  
(a) Dove (b) Clove (c) Due (d) flute 

         
4 Choose the word with correct spelling:  

(a) Accommodation (b) Accomodation (c) Acomodation (d) Acommodation 
         

5 Choose the correct plural form of the given word: 
 Deer 

 

(a) Deers (b) Deer (c) Deeres (d) Deeress 
         

6 Choose the correct plural form of the given word: 
News 

 

(a) Newess (b) Newses (c) Newes (d) News 
         

7 Choose the correct given nouns: 
Honesty 

 

(a) Common (b) Collective (c) Material (d) Abstract 
         

8 Fill in the blanks with the most appropriate nouns/noun forms: 
I climbed a ________ of stairs on my way to temple. 

 

(a) Pack (b) Bunch (c) Flight (d) fleet 
         

9 Choose the pronoun which can best replace the underlined noun: 
The car had to stop at the red light . The car could not cross it. 

 

(a) She  (b) He  (c) It  (d) They 
         

10 Fill in the blanks with the most appropriate pronouns: 
Daddy asked me to take care of Jery till ______ returned. 

 

(a) They (b) He (c) His (d) him 
         

11  Fill in the blanks using the correct form of the verb to make meaningful sentences: 
Somebody ____________ the windowpanes of my house. 

 

  
(a) Broke (b) Breaks (c) Did broke (d) broken 

         
         

12 Fill in the blanks using the correct form of the verb to make meaningful sentences: 
I __________ my extremely expensive necklace last month. 

 

(a) Lost (b) Loss (c) Lose (d) loose  
         

13 Choose the correct antonym of the given word: 
Convince 

 

(a) Prove (b) Confuse (c) Convert (d) content 
    

 
     

ENGLISH 
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14 Choose the correct antonym of the given word: 
Elementary 

 

(a) Primary (b) Original (c) Basic (d) secondary 
         

15 Fill in the blanks with appropriate articles:- 
I am ________ European 

 

(a) A (b) The (c) An (d) None of these 
 
 
 

         
16 100 tens= _______  
(a) 10 Lakhs (b) 100 thousand (c) 10 thousand (d) 1 thousand 

         
17 Expanded form of 8432  
(a) 2000+30 + 40 + 

8 
(b) 8000+400 + 30 + 

2 
(c) 4000+800 + 

30+ 2 
(d) None of these 

         
18 Compare and fill in box using > , < , = 

                LIV _________ XCIV 
 

(a) > (b) < (c) = (d) None 
         

19 Which one is odd number in it ?  
(a) 4681 (b) 2002 (c) 1358 (d) 9216  

         
20 Sum of largest four digit number and smallest three digit number.  
(a) 99100 (b) 10099 (c) 9999 (d) None of these  

         
21 Round off largest two digit number nearest 10’s.  
(a) 90 (b) 99 (c) 100 (d) 1000 

         
22 A bicycle company manufactures, 4720 bicycle in a month. Out of these , 2799 bicycle were 

defective. How many manufactured bicycle not defective? 
 

(a) 1921 (b) 7519 (c) 5719 (d) 2079 
         

23 3879 × 0 = ______  
(a) 3879 (b) 1 (c) 0 (d) 879 

         
24 The cost of 9 pens is Rs. 747. Then find the cost of each pen ?  
(a) Rs. 6723 (b) Rs. 83 (c) Rs. 38 (d) Rs. 9 

         
25 Which word does not belong with others.   
(a) Indus  (b) Glossary  (c) Chapter  (d) Book  

         
26 The boundary of circle is called _______  
(a) Circumference (b) Radius  (c) Diameter  (d) None 

         
27 The shapes which do not begin and end at same points are called _________ shapes.   
(a) Open (b) Closed (c) Vertex (d) Polygon 

         
28 Complete it . 

         A5A       B11B            C17C         D23D ……………. 
 

(a) E27E (b) E29D (c) E30E (d) E29E 
    

 
     

 MATHEMATICS 
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29 Write tally marks for a frequency 12.  
(a) IIII  IIIII  III (b) IIII   IIII   II (c) IIII    IIII (d) None  

 
         

30 Which one has two end points.  
(a) Line segment (b) Line (c) Ray (d) None of these  

 
 
 

         
31 Many plants wilt in the summer time because they do not have enough:  
(a) Flowers (b) Heat  (c) Water  (d) leaves  

         
32 Potato is the modified form of:-  
(a) Stem  (b) Root (c) fruit (d) leaf 

   
33 Which of the following diseases are caused by virus ? 

(i) Malaria     (ii) Tuberculosis   (iii) Dengue    (iv)  Measles     (v) Typhoid 
 

(a) (i) ,(ii) and (v) 
only 

(b) (ii)and (v) only (c) (iii) and (iv) 
only 

(d) (ii) ,(iv) and (v) 
only 

         
34 The method through which dogs and cats drink liquids is called _______  
(a) Interdependence (b) Breathing  (c) Lapping (d) Gnawing 

         
35 Our stomach expends when the food enters and contracts when it goes out. Thus stomach 

can expand and contract . This is possible because our stomach is made of :- 
 

(a) Bones (b) Muscles (c) Blood  (d) Iron  
         

36 Match the following and select the correct answer. 
                Organ system                                                              Function  

A. Circulatory system                                                 (i) Helps in production of offspring 
B. Skeletal system                                                       (ii) Helps the body to move 
C. Reproductive system                                             (iii) Helps in the movement of 

blood 
D. Respiratory system                                                (iv) Helps in exchange of air 

 

(a) A-iii , B-iv , C-i  
D-ii 

(b) A-iv ,B-iii , C-i , D- 
ii 

(c) A-iii,B-i ,C-
iv,D-ii 

(d) A-iii , B-ii, C-i, D-
iv 

         
37 The process of water cycle that helps to fill well and some times leads to floods, is also 

responsible for ________. 
 

(a) Drying of clothes  (b) Water loss from 
plant leaves 

(c) Snowfall in 
colder area  

(d) Formation of 
dew drops  

         
38 Evaporation increases with -  
(a) An increase in 

the amount of 
water  

(b) A decrease in the 
temperature. 

(c) A decrease in 
the area of 
exposure 

(d) An increase in 
the area of 
exposure 

 

         
39 The abiotic components of an ecosystem consist of -  
(a) Air , Water ,Soil (b) Plants and 

Animals 
(c) Producers , 

consumers, 
and 
decomposers 

(d) Algae and fungi 

      
 

   

SCIENCE 
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40 While making chapatis your mom takes some dough and rolls it . Then she spreads it out 
with a rolling pin. This will change the ___________ of the dough. 

 

(a) Volume (b) Man (c) Shape (d) State 
         

41 A sea breeze blows when the air above land is _________ and the air above sea is ______.  
(a)     Colder, 

Warmer 
(b) Warmer , Lighter (c) Heavier, 

Colder 
(d) Warmer, Colder 

         
42 The soft part of  our body is the-   
(a) Heart (b) Blood (c) Bones (d) Muscles 

         
43 In addition to sunlight what else is required for photosynthesis ?  
(a) Sugar and water  (b) Carbon- dioxide 

and water 
(c) Water and 

oxygen 
(d) Oxygen and 

carbon -dioxide 
         

44 In the flight of a bird during a down stroke the-   
(a) Wings move 

upwards 
(b) Tail changes its 

direction 
(c) Wings move 

downwards 
(d) Head of the bird 

is down 
 

         
45 Select the INCORRECT match from the following.  
(a) Incisor – Cutting (b) Canine – Tearing (c) Molar – Biting (d) Premolar – 

Crushing 
 
 
 

         
46 ‘Cassiopeia ‘ is the name of a _________.  
(a) Constellation (b) Galaxy  (c) Planet (d) Comet 

   
47 Which is the biggest glacier in the world ?  
(a) Lambert Glacier (b) Siachen Glacier (c) Bruggen 

Glacier 
(d) Batura Glacier 

         
48 Jawahar Tunnel is located under which Mountain Pass ?  
(a) Banihal Pass (b) Zoji La Pass (c) Nathu La  (d) Dihang Pass 

   
49 Which of the following awards is given to recognize outstanding achievement is National 

sports ? 
 

(a) Padma Shri (b) Param vir Chakra (c) Ashok Chakra  (d) Arjuna Award 
         

50 Where will be 2025 ‘Men’s T20 Asia Cup’ held ?  
(a) Paris  (b) Pakistan (c) Australia (d) India 

   
51 Which is the largest Peninsula in the world ?  
(a) Arabian 

Peninsula  
(b) Pacific Peninsula (c) Indian 

Peninsula 
(d) Africa 

         
52 Vande Matram , the National song of India was written by Bankim Chandra Chatterjee. It 

first appeared in the book_____. 
 

(a) Anandmath (b) The Discovery of 
India 

(c) Gitanjali (d) The Home and 
the World 
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53 There were five army officers at the party. Each officer shook hands once with each other. 
How many handshakes took place ? 

 

(a) 9 (b) 12 (c) 10 (d) 15 
         

54 If Reena goes to school only on odd dates in June 20XX, then for how many days does she 
go to school? (Assume that every Sunday is a holiday ) 
 

                                                                       
 

 

(a) 13 (b) 14 (c) 17 (d) 16 
55 

 

 

 

 

 

Count the number of circles in the given figure.              
                                                             
 

 

 

(a) 17 (b) 20 (c) 15 (d) 21 
         

56 In which of the following groups does the number 35 belong?  
(a) 4,8,12,16,,…… (b) 7,14,21,28,……… (c) 6,12,18,24,,….. (d) 3,6,9,12,,……. 

         
57 If ‘Dog’ means, ‘Bull’ , ‘Bull’ means “Hen” and ‘Hen ‘ means ‘cow’, then ________ gives us 

Egg. 
 

(a) Hen (b) Cow (c) Dog (d) Bull 
58 Which of the following words can not be formed from the letters of the given word ? 

                                           REASONING 
 

(a) EARNS (b) ORGAN (c) OPENS (d) GRAIN 
         

59 Select the combination of numbers so that the letters are arranged accordingly to form a 
meaningful English word.  

O  D  W  L  R 
1   2     3  4    5 

 

(a) 1,5,3,4,2 (b) 3,1,5,4,2 (c) 5,1,2,4,3 (d) 3,1,4,5,2 
         

60 Kashi is shorter than Aman but taller than Raj . Prince is the tallest . Who among the 
following is the shortest? 

 

(a) Aman (b) Prince (c) Kashi (d) Raj 
 

 

(Kindly fill at the time of submission) 
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